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A length-4 list is made from the letters A, B C, D, E, with repetition allowed.
How many such lists begin with a vowel or have no repeated letters?
(Examples: EDCC, EAAA, ABCD, DCAE, BCDE.)
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2. Use the binomial theorem to show Why 3" =20 (Z) + 2! (T) + 22 (Z) + 23 (g) + 2" (Z)
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1. A length-4 list is made from the letters A, B C, D, E with repetition allowed.
How many such lists begin with a vowel or end with a consonant?
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Ans: 1AUBL= [Al+ (B = [ANR]
2 3 .2

=256 4+5.3-2:5"3 |

=50 +375-150 = [475]

2. Use the binomial theorem to show why 4" = 3° (g) +.31 (T) + 32 (g) +3° (2) 443" (2)
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